[A] Subtraction Property of Equality Addition Property of Equality

1. Identify the property that justifies the statement: If 3x — 7 = 23, then 3x = 30.
[C] Substitution ransitive Property of Equality

2. Identify the property that justifies the statement: If £4 =~ /B, then /B = /4.
[A] Reflexive Property of Congruence gymmetric Property of Congruence
[C] Transitive Property of Congruence ] Division Property of Equality

9. Solve and prove the following equation. 3 = x

Solve/Statements: X — 6 Reason/Justification:
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For 3 — 8, name the property that justifies each statement.

3. If AB=CD and CD = EF , then AB = EF —‘—\—B'A'nsrlr\v"(
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4. If 3x +2 =7, then 3x =5.
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S. Ify=2andx+y=7,thenx+2=7
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6. If 4x=16,thenx=4

7.1f A= /D, then /D= /A. S\./\VY] m D)’Dv

8. -3(x—6)=-3x+18 d\AV DND

10. Algebra Find the value of each variable and the measure of each labeled angle.
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